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M.A./M.SC (FIRST - SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

GEOGRAPHY
PAPER  Fourth

(Geography of India)

Time : Three Hours] [Maximum Marks:80



Section - A



(Objective/Multiple Choice Questions)

(1 mark each)

 

Attempt all questions from section A.

Choose the correct answer.

1. 

(A)  (B) 

(C)  (D) 

P.T.O.
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Which is the oldest fold mountain range in India?

(A) Vindhyanchal (B) Satpura

(C) Aravali (D) Nilgiri

2. 


(A) 

(B) 

(C) 

(D) 

The following is the correct sequence of Geological forma-
tions existing in India from oldest to newest.

(A) Cuddapah - Dharwar - Gondwana - Vindhyan

(B) Dharwar - Cuddapah  - Gondwana - Vindhyan

(C) Vindhyan - Gondwana - Dharwar - Cuddapah

(D) Dharwar - Cuddapah - Vindhyan - Gondwana

3. 

(A)  (B)   

(C)  (D) 

Western Disturbances entering India are originate

(A) In the Arabian Sea

(B) In the Atlantic Ocean

(C) In the Mediterranean Sea

(D) In the Indian ocean
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4. 

(A) 

(B) 

(C) 

(D) 

Which of the following rivers flows through a fault valley?

(A) Damodar

(B) Krishna

(C) Tapi

(D) Tungabhadra

5. 

(A) 

(B) 

(C) 

(D) 

By what other name is 'Black soil' known?

(A) Khaddar soil

(B) Bangar soil

(C) Alluvial soil

(D)   Regur soil

P.T.O.
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6. 

(A)  

(B)  

(C) 

(D)   

Jhum is-

(A) A folk dance

(B) The name of a river

(C) A Tribe in the north of India

(D) A Type of Agriculture

7. 

(A) 

(B) 

(C) 

(D) 

High Agricultural Productivity region is found in South In-
dia.

(A) In Tamilnadu coast

(B) In kerala coast

(C) In Talangana coast

(D) In Vidarbha
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8. 

(A) 

(B) 

(C) 

(D) 

Which of the following is the main characteristic of mixed
cultivation?

(A) Growing two or more crops in the same field.

(B) Simultaneous cultivation of both cash and food
crops.

(C) Put together Animal Husbandry and crop produc
tion

(D) None of these above

9. 

(A) 

(B)  

(C) 

(D) 

The Largest part of the Irrigated area in India is cultivated.

(A) sugar cane

(B) Cotton

(C) Paddy

(D) Wheat

P.T.O.
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10. 

(A)    

(B)    

(C)    

(D)   

Which of the following pair is not correctly matched?

(A) Yellow Revolution - Oilseeds Production

(B) Blue Revolution - Fish Production

(C) Brown Revolution - Thermal power generation

(D) Green Revolution - Food Production

11. 

(A)  

(B) 

(C)  

(D) 

Which of the following is not a conventional source of
energy?

(A) Natural Gas

(B) Coal

(C) Mineral Oil

(D) Geothermal Energy
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12. 

(A) 

(B) 

(C)  

(D) 

The main source of Enargy in India is-

(A) Atomic

(B) Thermal

(C) Hydro-electricity

(D) Solar Energy

13.    

(A) 

(B) 

(C) 

(D) 

Manganese is used to make……..

(A) Paints

(B) Iron-Steel

(C) Kaolivite

(D) All of them

14. -I-II

P.T.O.
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

-I -II

(A)  

(B)   

(C)   

(D)   



(A) A - 2, B-1, C-4, D-3

(B) A - 3, B-2, C-1, D-4

(C) A - 4, B-3, C-2, D-1

(D) A - 1, B-2, C-3, D-4

Match List-I with List-II and select the correct answer from
the codes given below-

List- I List- II

(A) Makum 1. Iron ore

(B) Dallirajhara 2. Coal

(C) Koraput 3. Manganese

(D) Chitradurg 4. Bauxite

Code :

(A) A - 2, B-1, C-4, D-3

(B) A - 3, B-2, C-1, D-4

(C) A - 4, B-3, C-2, D-1

(D) A - 1, B-2, C-3, D-4
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15. 
  

(A) 

(B) 

(C) 

(D)   

Which group of steel Factories in India were built after
independence?

(A) Jamshedpur, Durgapur, Bhilai

(B) Bhilai, Durgapur, Madhvati

(C) Bhilai, Durgapur, Rourkela

(D) Kulti-Burnpur, Vishakhapatnam, Salem.

16. 


(A) 

(B) 

(C) 

(D) 

In the context of India, Chhattisgarh comes under which
Geographic region?

(A) Northern Plains

(B) Peninsular Highlands

(C) Coastal Plain

(D) Northern Mountain
P.T.O.
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17.          


(A)  

(B) 

(C) 

(D) 

Which Scholar’s plan of Division into Geographical re-
gions has been given importance by Indian scholars?

(A) O. H. K. Spate

(B) Mc Farlane

(C) Baker

(D) Dudley Stamp

18. 

(A)  

(B) 

(C)  

(D) 

Which is the major basin of Chhattisgarh?

(A) Korba Basin

(B) Raigarh Basin

(C) Kanker Basin

(D) Arpa Basin
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19. 

(A) 

(B)  

(C) 

(D) 

Which of the following River has a different flow from other
Rivers?

(A) Chambal

(B) Kali Sind

(C) Parvati

(D) Mahi

20. 

(A)  

(B)  

(C)  

(D) 

Which Region is not included in the Peninsular High-
lands?

(A) Malwa Pradesh

(B) Gujarat Region

(C) Bundelkhand Region

(D) Chhota Nagpur Region

P.T.O.
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

Section - B

  (2 marks each)



(Very Short Answer Type Questions)



Attempt all questions from section B.



Write answer of the following in 2-3 sentences.

1. 

What type of Landforms are found in India?

2. 

Name three Rivers that fall into the Arabian sea.

3.     

Discuss Citically the Shifting Agriculture.

4. 

On What basis are the Agricultural Regions determined?

5. 

What is the main feature of an Industrial Region?
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6. 

What is ACC Full Name?

7. 

In Which Indian state is the Maikal Plateau Located?

8. 


O.H.K. Spate on what basis has divided the major terri-
tories of  India?



Section - C



(3 marks each)

(Short answer type questions)



Attempt all questions in maximum 75 words.

1. 

Write the main Features of Indian Manson.

2. 

A River of South India Which is Eternal.  why?

P.T.O.
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3.    

Write the characteristic of Indian Agriculture.

4. 

Why is there a need to adopt an Intensive Agriculture
Policy in India?

5. 

Write the difference between Iron and Ferrous Minerals.

6. 

Write the dif ference between conventional and
nonconventional energy sources.

7. 

Why is a Geographical Region Called a Natural Region?

8.     

Write three Characteristics of Teerathgarh Waterfall.



Section - D



(Long answer type questions)

(5 marks each)
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

Attempt all questions in about 150 words.

1.     

Give a Regional Classification of the Himalayas.

/Or



Write an article on Soil Erosion and Land conservation
problem of India.

2.      

Discuss the changing Pattern of cropping in India.

/Or

    

Describe the plantation crops of India.

3. 

Describe various methods of Conservation of mineral
resources.

/Or

   

Write an Essay on Iron Steel Industry of India.
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4.     

Give a detailed Regional account of Chhattisgarh Basin.

/Or

       


Explain the culture scenario of Chhattisgarh Region.


